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SN dHES

B GHIS FOIME 29
ool JH2E FOIME L FOIXXE 2Y el Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2

— B2OoIFHIAIAE 2HH| 150,000 * 128 1,800

— d2D| |X4| 55,000 = 12& 660

— FOIMIE S XY 2,000

— g2 I A4 2,400
401 Al&EHIYLLE04H] 4,500 0 4,500
01 Al&H] 4,500 0 4,500

O = A AIEES Z2AH 4,500

— 2= =24 L 8 g2 At 4,500
YA (LH2S) 50,604 49,579 1,025
OlHARAH| (L R2S) 8,964 8,424 540
olHARIAH|(EH2S) 8,964 8,424 540
203 YRF&EH| 8,964 8,424 540
01 JI22IER=&| 5,940 5,400 540

O s 6,600,000 * 1 * 90% 5,940
02 HIAIMNMHARF=AH| 324 324 0

O 3L RE=RH| 40,000 * 9% * 90% 324
04 ENSIYERF=EH 2,700 2,700 0

O EM2IIRFAH|

250,000 * 12& * 90% 2,700
J2dbl(gd2s) 41,640 41,155 485
Jl2dd(gd2s) 41,640 41,155 485
201 B9y 20,040 19,555 485
01 AtR2t2id] 9,450 8,587 863

O 1. ¢824 6,728

— Z2AE X 17,000 * 50&f A 850

— S A =2/t 500,000 * 2CH * 13] 1,000

— SAMI EY 100,000 * 2CH = 33/ 600

— TZgED ElY 250,000 * 2CH * 33| 1,500

— 9 HE 70,000 * 73] 490

— MNEUHS(XEXI2) 24,000 = 128 288

— BENEY JlE2+EH| 2,000

O 5. S &I 2,722
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SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
— N S|
7,000 * 440 % 9% x 128 * 90% 2,722
0 I 10,590 10,968 ~378
O1. 2222 2 AA 10,590
— M3t L 2HeS 350,000 * 122 4,200
~ @2z 400,000 * 122 4,800
— &,54523 100,000 * 63l 600
e EREES-] 6,600 * 122 80
— ALEXY S IHA 30,000 * 23| 60
~ desxy P 500,000 * 13l 500
— BAWARYS 50,000 * 23| 100
— HEE B 242 250,000 * 13l 250
202 01l 21,600 21,600 0
01 =Lfoit] 21,600 21,600 0
O BUHEZ0ILI
20,000 * 102 * 9% * 128 21,600




